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JNE] i H FEHE BRI fhENRE TN E)
LU HaEL 5 i ] A HEPER| AR SET| I EsA ERsH &EH (H) | (&)
ik 47, 715| 110, 095] 53, 657] 56, 438 113 71 -27 63 90 98] 589 491 o] 214 214
HI—TH 709 1,508 746 762 7 10 -3 0 3 5 10 5 8 8 0
FLl T H 5511 1,304 654 650 2 3 1 2 1 2 10 8 0 1 1
LI =TH 4511 1,039 509 530 1 0 2 2 0 7 7 0 0 0
SulAEH 1L, 711 3,851 1,909 1,942 10 13 -2 4 6 7 27 20 8 9 1
Sk —TH 471 949 447 502 6| 13 0 1 1 -6 1 7 -7 1 8
. = 726 1,763 862 901 2 7 1 2 1 -2 6 8 8 9 1
SR —TH 539l 1,300 619 681 2| -12 0 0 0 —4 4 8 -8 0 8
S AT H 401 915 447 468 1 1 0 0 0 -2 2 4 3 3 0
o h ] B 614f 1,341 641 700 8 18 -1 0 1 9 13 4 10 12 2
BN T B 222 486 234 252 -1 -2 0 0 0 -1 1 -1 0 1
ARt TH 645 1,714 830 884 0 -2 1 1 0 0 2 -3 0 3
oA\ T H 400 884 420 464 3 6 3 3 0 7 10 3 —4 0 4
IV B 601f 1,433 717 716 0 4 -1 1 2 4 6 2 1 3 2
S aaatl 4,619 10,785] 5,217| 5,568 5 7 3 8 5 5 44 39 -1 28 29
e n—1H 336 803 399 404 -1 -3 0 0 0 -1 4 5 -2 0 2
e T H 984 2,093| 1,045 1,048 2 7 -2 1 3 6 17 11 3 6 3
HHk o —TH 685[ 1,453 714 739 2 0 1 1 0 -2 3 5 1 1 0
Wk A AEEL 2,005 4,349 2,158 2,191 3 4 -1 2 3 3 24 21 2 7 5
Mt A — T H 526( 1,221 600 621 0 1 -1 0 1 2 5 3 0 0 0
ek R _TH 350 915 473 442 -2 -3 -1 0 1 -1 4 5 -1 0 1
Mk R =TH 242 515 265 250 1 1 0 0 0 1 4 3 0 0 0
ik L G| 5321l 1,274 647 627 4 1 -1 0 1 3 5 2 -1 0 1
msEr aaEt] 1,650  3,925] 1,985 1,940 3 0 -3 0 3 5 18 13 -2 0 2
JCE g 363 867 412 455 0 -1 1 1 0 -2 2 4 0 0 0
HOEEN— T H 201 426 206 220 3 2 0 0 0 0 4 4 2 2 0
HOEE T H 424 975 466 509 2 -1 0 0 0 7 0 -8 2 10
HoEEI =T H 683 1,746 854 892 1 -2 -2 0 2 10 8 -2 0 2
HOEEAN T H 764/ 1,908 930 978 4 7 1 1 0 12 5 -1 0 1
HOERS T H 431 1,031 525 506 6 12 0 0 0 12 14 2 0 1 1
HOEEIS T H 394 912 450 462 -1 —4 -1 0 1 0 0 0 -3 0 3
HoEEOETH 671 1,462 715 747 3 2 -1 0 1 4 10 6 -1 2 3
HOEESOSE| 3,568 8,460 4,146] 4,314 18 16 -3 1 4 32 57 25l -13 7 20
PEEE| 1,513 2,873 1,362 1,511 4 0 —4 0 4 -2 12 14 6 6 0
FHIAR 317 680 348 332 1 2 -1 1 2 1 3 2 2 4 2
EE g —T 541 1,097 520 577 66 111 -3 0 3 47 49 2 67 67 0
EE g — T 253 512 255 257 -1 -2 0 0 0 -1 1 -1 0 1
R =T H 525 1,176 585 591 -1 -2 -2 0 2 -2 4 2 2 0
EESN R T H 618 1,296 620 676 -6|  -11 2 2 0 —4 12 -9 1 10
EEP g R T H 236 546 273 273 2 2 0 0 0 2 0 0 0 0
EED A 2, 173 4,627 2,253] 2,374 60 98 -3 2 5 42 61 19 59 70 11
EEIARRT— T H 668 1,394 662 732l  -10]  -19 0 3 3 -2 6 8l -17 1 18
EEIARRT T H 657 1,312 617 695 0 —4 0 0 0 1 5 4 -5 1 6
EEOARRTAE 1,325 2,706 1,279 1,427(| -10[ -23 0 3 3 -1 11 12 22 2 24
RPN 287 800 436 364 2 3 0 0 0 2 2 0 1 1 0
WHR—TH 711 1,671 833 838 3 3 1 1 0 -3 9 5 7 2
PR T H| 1,700 3,949 1,893| 2,056 2| 24 2 5 3| -10 18 28 -16 2 18
HHR=TH 838 2,170| 1,056 1,114 -2 -5 -1 1 2 -6 2 8 2 3 1
HHRIT H 493 1,191 567 624 1 -1 0 1 1 -3 1 4 2 3 1
HPREEH 3, 742!l 8,981| 4,349 4,632 0] -27 2 8 6| —22 27 49 -7 15 22
HiR—TH 674 1,565 758 807 -1 -18 1 1 of -12 7 19 -7 0 7
LR - TH 927  2,265| 1,126 1,139 3 5 2 3 1 5 9 4 -2 1 3
PR =TH 485 1,045 534 511 7 14 1 1 0 13 18 5 0 1 1
bR E&E| 2,086 4,875] 2,418| 2,457 9 1 4 5 1 6 34 28 -9 2 11
T IROBTHT 319 810 388 422 0 3 -1 0 1 6 8 2 -2 0 2
WEl 1,597 5,161 2,320 2,841 -6 -9 -2 4 6 -2 6 8 -5 0 5
FRE— T H 741 1,768 863 905 5 4 1 1 0 3 11 8 0 5 5
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LU HaEL 5 i s A AR AR SET) ] A EREH &EH (H) | (&)

FYlE 1T H 732 1,814 907 907 2 2 -1 0 1 6 8 2 -3 1 4
MoE =1 H 649 1,558 777 781 4 -1 —/ 0 4 2 4 2 1 1 0
A EN T H 942l  2,243| 1,084 1,159 2 5 -2 0 2 6 11 5 1 3 2
RCENNE 623 1,451 709 742 10 32 1 1 0 10 17 7 21 24 3
MAEST H 420l 1,012 478 534 -2 -3 1 1 0 -1 1 2 -3 0 3
mAlEaE 4,107]  9,846] 4,818] 5,028 21 39 —4 3 7 26 52 26 17 34 17
VEPIe S 547Il 1,131 563 568 1 0 1 1 0 -2 1 3 1 1 0
e —TH 310 682 321 361 0 -3 -2 0 2 0 3 3 -2 1 3
i — T H 587 1,345 642 703 0 -1 -1 0 1 0 8 8 0 0 0
A gl 897 2,027 963| 1,064 0 —4 -3 0 3 0 11 11 -2 1 3
Eh— 1 H 308 695 346 349 -3 —4 0 1 1 2 4 2 -6 0 6
B — T H 631 1,375 659 716 —4 -2 1 2 1 -6 8 14 3 5 2
=T H 390( 1,039 523 516 2 5 1 1 0 4 8 4 0 1 1
EAE 1,3290 3,109 1,528| 1,581 -5 -1 2 4 2 0 20 20 -3 6 9
e —TH 385 972 455 517 0 0 1 1 0 0 0 0 -1 0 1
WHE T H 443 1,107 558 549 -5 -5 0 1 1 -3 1 4 -2 3 5
HWHE =T H 763l 1,897 970 927 -1 =10 -3 0 3 -7 3 10 0 0 0
W& T B 449 1,052 512 540 —4 0 -1 1 2 -3 3 6 4 5 1
B E ] H 794/ 1,755 862 893 0 1 1 1 0 2 11 9 -2 2 4
HHIENT H 240 510 254 256 -3 -5 -1 0 1 —4 2 6 0 0 0
U ESE 3,074 7,293 3,611 3,682 -13]  -19 -3 4 M -15 20 35 -1 10 11
<HWE—TH 590 1,389 681 708 0 -2 -1 0 1 1 11 10 -1 1 2
<HEIL—TH 703l 1,488 726 762 -3 -5 0 2 2 —4 10 14 -1 0 1
SHBEIL=TH 523 1,150 570 580 0 -1 -1 0 1 0 6 6 0 0 0
<HEWLPTH 565 1,191 605 586 4 3 -1 0 1 7 10 3 -3 1 4
<O T H 326 716 384 332 6 —4 0 0 0 -5 24 29 1 1 0
<WEEEH 2,707 5,934 2,966 2,968 7 -9 -3 2 5 -1 61 62 —4 3 7
WVEAIT—TH 781l 1,695 855 840 -9  -12 0 2 2 -8 13 —4 2 6
WIEAR T H 469 1,128 580 548 0 -8 -1 1 2 -7 10 0 0 0
PIEARTSE 11,2500 2,823| 1,435 1,388 -9 =20 -1 3 4 =15 23 —4 2 6
s 408 801 378 423 -1 -7 0 0 0 -1 10 -6 1 7
ek a—TH|[ 1,070( 1,713 752 961 8 8 1 1 0 8 18 10 -1 0 1
e T H 419 723 349 374 1 1 0 1 1 4 9 5 -3 0 3
kR =T H 629 1,694 795 899 0 -3 -1 0 1 -1 5 6 -1 1 2
sk BRI H 398 839 410 429 -2 0 1 1 0 3 6 3 —4 0 4
o aaEll 2,516 4,969 2,306] 2,663 7 6 1 3 2 14 38 24 -9 1 10
FRIREET 21 53 27 26 1 2 0 0 0 2 2 0 0 0 0
B 735 1,736 839 897 1 -5 -3 1 4 0 5 5 -2 1 3
VEEE 279 673 310 363 -3 -5 -1 0 1 0 1 1 —4 1 5
e — T H 4491 1,132 566 566 2 4 0 1 1 4 4 0 0 0 0
e T H 391 919 442 477 0 -2 -2 0 2 0 5 5 0 0 0
oo B R 840l 2,051| 1,008 1,043 2 2 -2 1 3 4 9 5 0 0 0
P — T H 688[ 1,409 698 711 6 5 -1 0 1 6 13 7 0 1 1
P T H 518| 1,287 608 679 1 1 0 1 1 0 1 1 1 1 0
WeEE A Er 1,208 2,696 1,306] 1,390 7 6 -1 1 2 6 14 8 1 2 1
P e 296 668 334 334 0 1 1 1 0 1 1 0 -1 0 1
BEHIR 228 535 285 250 -2 -2 -1 0 1 -1 1 2 0 0 0




